Justin Garcia output

A:\>program2 < c:\temp\p2goodin.txt

 THIS PROGRAM WILL MANIPULATE AN ARRAY OF INTEGERS; IT WILL FIND THE LARGEST,

 SMALLEST, AND AVERAGE VALUES. IT WILL ALSO SORT THE ARRAY.

 PLEASE ENTER A SERIES OF INTEGERS, FOLLOWED BY CTRL+Z

    ||  1  |  2  |  3  |  4  |  5  |  6  |  7

 ---------------------------------------------

  1 || 666 | 616 | -12 |   0 |   0 |   0 |   0

  2 || 555 | 323 | -35 |   0 |   0 |   0 |   0

  3 || 444 | 345 | -42 |   0 |   0 |   0 |   0

  4 || 333 | 456 | -91 |   0 |   0 |   0 |   0

  5 || 222 | 987 | -23 |   0 |   0 |   0 |   0

 THE LARGEST VALUE IS AT: (5, 2).

    ||  1  |  2  |  3  |  4  |  5  |  6  |  7

 ---------------------------------------------

  1 || 222 | 323 | -91 |   0 |   0 |   0 |   0

  2 || 333 | 345 | -42 |   0 |   0 |   0 |   0

  3 || 444 | 456 | -35 |   0 |   0 |   0 |   0

  4 || 555 | 616 | -23 |   0 |   0 |   0 |   0

  5 || 666 | 987 | -12 |   0 |   0 |   0 |   0

 THE LARGEST VALUE IS AT: (5, 2).

 THE LARGEST VALUE IN THE ARRAY IS: 987

 THE SMALLEST VALUE IN THE ARRAY IS: -91

 THE AVERAGE VALUE IN THE ARRAY IS: 135.54

 THE PROGRAM IS COMPLETE.  YOU MAY CLOSE THE WINDOW

A:\>program2 < c:\temp\p2bad.txt

 THIS PROGRAM WILL MANIPULATE AN ARRAY OF INTEGERS; IT WILL FIND THE LARGEST,

 SMALLEST, AND AVERAGE VALUES. IT WILL ALSO SORT THE ARRAY.

 PLEASE ENTER A SERIES OF INTEGERS, FOLLOWED BY CTRL+Z

 SORRY, INCORRECT INPUT ENTERED.  PROGRAM TERMINATED.  GOOD BYE.

A:\>program2 < c:\temp\p2full.txt

 THIS PROGRAM WILL MANIPULATE AN ARRAY OF INTEGERS; IT WILL FIND THE LARGEST,

 SMALLEST, AND AVERAGE VALUES. IT WILL ALSO SORT THE ARRAY.

 PLEASE ENTER A SERIES OF INTEGERS, FOLLOWED BY CTRL+Z

    ||  1  |  2  |  3  |  4  |  5  |  6  |  7

 ---------------------------------------------

  1 || 666 | 616 | -12 | 111 | 212 | 987 | 132

  2 || 555 | 323 | -35 | 222 | 434 | 212 | 498

  3 || 444 | 345 | -42 | 333 | 454 | 432 | 713

  4 || 333 | 456 | -91 | 444 | 567 | 345 | 543

  5 || 222 | 987 | -23 | 555 | 456 | 798 | 721

 THE LARGEST VALUE IS AT: (1, 6).

    ||  1  |  2  |  3  |  4  |  5  |  6  |  7

 ---------------------------------------------

  1 || 222 | 323 | -91 | 111 | 212 | 212 | 132

  2 || 333 | 345 | -42 | 222 | 434 | 345 | 498

  3 || 444 | 456 | -35 | 333 | 454 | 432 | 543

  4 || 555 | 616 | -23 | 444 | 456 | 798 | 713

  5 || 666 | 987 | -12 | 555 | 567 | 987 | 721

 THE LARGEST VALUE IS AT: (5, 2).

 THE LARGEST VALUE IN THE ARRAY IS: 987

 THE SMALLEST VALUE IN THE ARRAY IS: -91

 THE AVERAGE VALUE IN THE ARRAY IS: 397.51

 THE PROGRAM IS COMPLETE.  YOU MAY CLOSE THE WINDOW

A:\>

VERY NICE

I found:

2

